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* Before using this syntax, you need to import an AIS file in an excel format to SPSS, save

the imported AIS data onto an appropriate folder and name it as 'ais.sav'.
GET

FILE="PUT YOUR FILE PATH HERE¥ais.sav'.
DATASET NAME main WINDOW=FRONT.

dataset copy sub.

dataset activate sub.

*extract liver inj.
select if (AIS_code = 541810.2).

execute.

* get severity.
compute severity=mod((AIS_code*10),10).




execute.

* count the number of codes per casenumber.
AGGREGATE
/OUTFILE=* MODE=ADDVARIABLES
/BREAK=sid severity
/N_code=N.

* extract one row from multiple rows with the same severity.
if ($casenum=1 | sid ne lag(sid) | severity ne lag(severity)) seq=1.
if (Jcasenum ne 1 & sid eq lag(sid) & severity=lag(severity)) seq=lag(seq)+1.

execute.

select if (seq=1).

execute.

* delete unnecessary variables.
delete variables AIS_code seq.

execute.

* create variables for severities and put the number of cases for a given severity.
compute severityl_tmp=0.
compute severity2_tmp=0.
compute severity3_tmp=0.
compute severity4_tmp=0.
compute severity5_tmp=0.
compute severity6_tmp=0.
compute severity9_tmp=0.

execute.

if (severity=1) severityl_tmp=N_code.
if (severity=2) severity2_tmp=N_code.
if (severity=3) severity3_tmp=N_code.
if (severity=4) severity4_tmp=N_code.
if (severity=>5) severity5_tmp=N_code.
if (severity=6) severity6_tmp=N_code.
if (severity=9) severity9_tmp=N_code.

execute.




AGGREGATE
/OUTFILE=* MODE=ADDVARIABLES
/BREAK=sid
Iseverityl=SUM(severity1l_tmp)
Iseverity2=SUM(severity2_tmp)
Iseverity3=SUM(severity3_tmp)
Iseverity4=SUM(severity4_tmp)
Iseverity5=SUM(severity5_tmp)
Iseverity6=SUM(severity6_tmp)
Iseverity9=SUM(severity9_tmp).

execute.

* include only one row per case.
sort cases sid.

execute.

if ($casenum=1 | sid ne lag(sid)) seq=1.
if ($casenum ne 1 & sid eq lag(sid)) seq=lag(seq)+1.

execute.

select if (seq=1).

execute.

*delete unnecessary variables.
delete variables severity to severity9_tmp seq.

execute.

* now you will see a data file (sav file). You can save it onto anywhere you want in any format

you want.




